Ea EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING
_,__ www.EquipmentAnchorage.com
v

SHEET
I\=—"_PATTERSON-KELLEY CO. vea . HOBERSON 1
sosno. 1-1707
DURATION III® WATER HEATER e 3/21/17 2
OF SHEETS
SEISMIC ANCHORAGE SLAB ON GRADE
7=\
o
. oo I C.6. WT. = SEE SCHED
' ﬁ/
0
I - (4)- 3/8"0 HILTI KB-TZ
- )i© EXPANSION ANCHORS
i = (MIN. EMBED. (ha) = 2')
It} =T
;rLZ: l l NORMAL WEIGHT CONCRETE
FLOOR SLAB (BY STRUCTURAL
Ty Ty ENGINEER OF RECORD)

(t'c = 3000 PS| MIN)
FRONT ELEVATION

NOTES:
1. FORCES ARE DETERMINED PER 2016 CALIFORNIA BULDING CODE AND ASCE 7-10

STRENGTH DESIGN IS USED. (Sps = 220, @p = 10, lp = 15, Rp = 25, Qs = 20, z/h = 0)

HORIZONTAL FORCE (Eh) = 099 Wp
HORIZONTAL FORCE (Emn) = 198 Wp (FOR CONCRETE ANCHORAGE)
VERTICAL FORCE (Ev) = 044 Wp

2. CENTER OF GRAVITY (CG) AND WEIGHT ARE THE GOVERNING PARAMETERS FOR DESIGN,
THESE CALCULATIONS ENCOMPASS ALL WEIGHTS UP TO THE MAXIMUM WEIGHT SHOWN.

38 STRUCTURAL ENGINEER OF RECORD FOR THE BULDING SHALL PROVIDE SUPPORT STRUCTURE
DESIGNED TO SUPPORT WEIGHTS AND FORCES SHOWN IN COMBINATION WITH ALL OTHER
LOADS THAT MAY BE PRESENT.




EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING

www.EquipmentAnchorage.com

[EASTE;
=

SHEET
[\——"_PATTERSON-KELLEY CO. = LnoeeRon |
Josno. M-1707
DURATION I1I® WATER HEATER we 327 | 9
SEISMIC_ ANCHORAGE N SLAB ON GRADE
- IIBII o "C" o
‘ 1 (4)- 3/8"0 HILTI KB-TZ
EXPANSION ANCHORS
o (MIN. EMBED. (het) = 2")
. B~ CG.WI. = SEE SCHED
[a (Y = SEE SCHED)
iH|
| \
PLAN AT BASE
U N |-|— WElGHT V JJAJJ Bll JJCII JJDII JJEII JJFII TU VU
(Ib) @) | Gn) | ) | @) | Gn) | ) | (n) | (b) | (b)
PUMPED 475 182 65| 75 | 9 | 37 | 238 | 132 | 666 | 379
INSTANTANEOUS 500 186 | 65| 76 | 89 | 37 | 239 | 131 | 721 | 400

LOADS: PER 2016 CALIFORNIA BUILDING CODE AND ASCE 7-10.

WEIGHT = 500 LB
HORIZONTAL FORCE (Emh) = 198 Wp = 990 LB
VERTICAL FORCE (Ev) = 044 Wp = 220 LB

BOLT FORCES:

STRENGTH DESIGN IS USED (Sps = 220, @p = 10, Ip = 15, Rp = 25, Qo = 20, zh = 0)

BOLT SPECS: 3/8”¢ HILTI KB-TZ (het= 2’)
®T= 075¢Nn = 1212 LB/BOLT  (TENSION)
®V= ¢Vh = 1466 LB/BOLT (SHEAR)

= 721 LB/BOLT (MAX)

TENSION (T)
B _| _oo0uieeNre) | o], _G00H1BEURD)  (500#09) - 220476239
UMAMM = oo BTYB5Y) 1 oLt (165937 180T (1B5)37)
( HORLZ - FRONT TO BACK ) ( HORLZ - SIDE TO SDE ) { WHGHTI09) - Bv)
SHEAR (V)
990#(8.9" 990#(239")
V = (ZHMCT) 0g) )+ UMY 400 | B/BOLT (MAX
AN <2BOLTS(16.5”) 3 >> " 2 sours (37" 400 e
UNITY CHECK:
Ty Vu 721 400\ _ )
(1) (20 st () (49 womrez -




Ea EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING
_,__ www.EquipmentAnchorage.com
v

[\——"_PATTERSON-KELLEY CO. o ROBERSON "_ff
JsoBno.  T1-1707
DURATION IlI® WATER HEATER .. smm | o .
SEISMIC ANCHORAGE UPPER FLOOR
1'

/ C.G. WT. = SEE SCHED

o o
- {ﬁ/ (4)- 3/8"0 (A36) THREADED RODS
ST e THRU FLOOR (HOLES TO BE I/16"

LARGER THAN BOLT DIAMETER MAX)

FLOOR SLAB (BY STRUCTURAL

SEE SCHED

STRUT BENEATH FLOOR
(BY STRUCTURAL
ENGINEER OF RECORD)

To To

FRONT ELEVATION

NOTES:
1. FORCES ARE DETERMINED PER 2016 CALIFORNIA BUILDING CODE AND ASCE 7-10.

STRENGTH DESIGN IS USED. (Sps = 220, ap = 10, lp = 15, Rp = 25, z/h < 1)

HORIZONTAL FORCE (En) = 158 Wp
VERTICAL FORCE (Ev) = 044 Wp

2. CENTER OF GRAVITY (CG) AND WEIGHT ARE THE GOVERNING PARAMETERS FOR DESIGN.
THESE CALCULATIONS ENCOMPASS ALL WEIGHTS UP TO THE MAXIMUM WEIGHT SHOWN.

3. STRUCTURAL ENGINEER OF RECORD FOR THE BUILDING SHALL PROVIDE SUPPORT STRUCTURE
DESIGNED TO SUPPORT WEIGHTS AND FORCES SHOWN IN COMBINATION WITH ALL OTHER
LOADS THAT MAY BE PRESENT.




EQUIPMENT ANCHORAGE & SEISMIC ENGINEERING

www.EquipmentAnchorage.com

[EASTE;
=

SHEET
[\——"_PATTERSON-KELLEY CO. = LnoeeRon |
Josno  1-1707
DURATION I11I® WATER HEATER we 327 | 9
SEISMIC ANCHORAGE AN UPPER FLOOR
- IIBII o IICII o
‘ (4)- 3/8"¢ (A36) THREADED RODS
THRU FLOOR (HOLES TO BE 1/16"
i LARGER THAN BOLT DIAMETER MAX,)
. B~ CG.WI. = SEE SCHED
[a (Y = SEE SCHED)
iH|
| \
PLAN AT BASE
U NlT WElGHT V IIAU Bl] JICU IIDU IIEU UFU TU VU
(Ib) @) | @) | @) | ) ] )] )| (n) | ()| (b)
PUMPED 475 82165 75 9 37 | 2381 1832 | 519 | 303
INSTANTANEQOUS 500 B6 1165 76 | 89 | 37 | 239 131|562 | 319

WEIGHT = 500 LB

BOLT FORCES:

LOADS: PER 2016 CALIFORNIA BUILDING CODE AND ASCE 7-10.
STRENGTH DESIGN IS USED (Sps = 220, @p = 10, Ip = 15,Rp = 25, zh <)

HORIZONTAL FORCE (En) = 168 Wp = 790 LB
VERTICAL FORGCE (EV = 044 Wp = 220 LB

BOLT SPECS: 3/8" (A36) THREADED ROD
7= 3589 LB/BOLT  (TENSION)
V= 1914 LB/BOLT  (SHEAR)

TENSION (1)
_| 790418676 790#(186239) (500409 - 220476239 _
K MAX'MUM'L BoT (37(65) <0'3)J " T sour (65767 Toor (65067 - o2 LE/BOLT MAX
(HORLZ - FRONT TO BACK ) (HORZ - SDE TO SDE ) (WEGHT(09) - Ev)
SHEAR (V)
_ [ _790#89) 790#(239")
v = (20T (09) | + L2 - 319 [B/BOLT (MAX
HAMN <280LTS (165" 3 >> " 2 sours (37" i




	1.pdf
	2.pdf
	3.pdf
	4.pdf

